# Identities and Derivative Formulas for the Combinatorial and Apostol-Euler Type Numbers by Their Generating Functions 

Irem Kucukoglu ${ }^{\text {a }}$, Yilmaz Simsek ${ }^{\text {b }}$<br>${ }^{a}$ Department of Engineering Fundamental Sciences, Faculty of Engineering, Alanya Alaaddin Keykubat University TR-07425 Antalya, Turkey<br>${ }^{b}$ Department of Mathematics, Faculty of Science, University of Akdeniz TR-07058 Antalya, Turkey


#### Abstract

The first aim of this paper is to give identities and relations for a new family of the combinatorial numbers and the Apostol-Euler type numbers of the second kind, the Stirling numbers, the ApostolBernoulli type numbers, the Bell numbers and the numbers of the Lyndon words by using some techniques including generating functions, functional equations and inversion formulas. The second aim is to derive some derivative formulas and combinatorial sums by applying derivative operators including the Caputo fractional derivative operators. Moreover, we give a recurrence relation for the Apostol-Euler type numbers of the second kind. By using this recurrence relation, we construct a computation algorithm for these numbers. In addition, we derive some novel formulas including the Stirling numbers and other special numbers. Finally, we also some remarks, comments and observations related to our results.


## 1. Introduction

The special numbers and polynomials with their generating funstions, recently, have been studied by many authors in many different areas especially almost all branches of mathematics, probability and statistics and the other areas. On the other hand, combinatorial numbers and combinatorial sums provide significant tools to solve problems not only in number theory, but also in discrete probability theory. There are various kind of studies and applications related to generating functions for the special numbers and polynomials. For example, according to the work in [5, p. 55], we see that the generating functions techniques emerged from while studying the distributions of random variables by De moivre and Laplace in probability theory. It is well-known that interpreting probability and statistic problems by the combinatorial way is very important. For instance, special numbers especially combinatorial numbers are of many application in the theory of enumerative combinatorics, the theory of probability and algebraic combinatorics on words. In this paper, we give connection between the numbers counting the $k$-ary $n$-length Lyndon words and combinatorial numbers. The numbers of the $k$-ary $n$-length Lyndon words have many applications in algebraic combinatorics, lie algebra, analytic number theory, and also the theory of generating functions.

[^0]Motivation of this paper is to combine special numbers and polynomials, combinatorial numbers and the numbers of Lyndon words (see [2], [8], [14], [15], [16], [17], [18]).

In order to achieve our goals of this paper, we consider a family of new combinatorial numbers and the Apostol-Euler type polynomials of the second kind, which is introduced and investigated in recent papers [19], [21] and [22]. By spirit of these numbers with their generating functions, we give many novel identities including of them.

It is time to recall some notations, definitions, identities and formulas related to some well-known numbers and polynomials with their generating functions.

Let $\mathbb{N}=\{1,2,3, \ldots\}, \mathbb{N}_{0}=\mathbb{N} \cup\{0\} . \mathbb{Z}, \mathbb{R}$ and $\mathbb{C}$ corresponds the set of integers, the set of real numbers and the set of complex numbers, respectively. Furthermore, we assume that

$$
0^{n}=\left\{\begin{array}{cc}
1, & n=0 \\
0, & n \in \mathbb{N}
\end{array}\right.
$$

Also, throughout this paper, we assume that

$$
\binom{x}{0}=1 \text { and }\binom{x}{n}=\frac{(x)_{n}}{n!}
$$

where $x \in \mathbb{C}, n \in \mathbb{N}_{0}$ and $(x)_{n}$ denotes the falling factorial defined as follows:

$$
(x)_{n}=x(x-1)(x-2) \ldots(x-n+1) \quad(x \in \mathbb{C} ; n \in \mathbb{N})
$$

and

$$
(x)_{0}=1 \quad(x \in \mathbb{C})
$$

(cf. [1]-[24], and the references cited therein)
In this paper, our motivation is to study on the combinatorial numbers $y_{1}(n, k ; \lambda)$ defined by means of the following generating function:

$$
\begin{equation*}
F_{y 1}(t, k ; \lambda)=\frac{1}{k!}\left(\lambda e^{t}+1\right)^{k}=\sum_{n=0}^{\infty} y_{1}(n, k ; \lambda) \frac{t^{n}}{n!} \tag{1}
\end{equation*}
$$

(cf. [19], [21]).
The explicit formula for the combinatorial numbers $y_{1}(n, k ; \lambda)$ is given by

$$
\begin{equation*}
y_{1}(n, k ; \lambda)=\frac{1}{k!} \sum_{j=0}^{k}\binom{k}{j} j^{n} \lambda^{j} \tag{2}
\end{equation*}
$$

## (cf. [19], [21]).

One can easily see that for $\lambda=1$, these combinatorial numbers are reduced to the following combinatorial sum:

$$
\begin{equation*}
B(n, k)=k!y_{1}(n, k ; 1)=\sum_{j=0}^{k}\binom{k}{j} j^{n} \tag{3}
\end{equation*}
$$

## (cf. [19], [21]).

The Apostol-Euler type polynomials of the second kind of order $k, E_{n}^{*(k)}(x ; \lambda)$ defined by means of the following generating functions:

$$
\begin{equation*}
F_{P}(t, x ; k, \lambda)=\left(\frac{2}{\lambda e^{t}+\lambda^{-1} e^{-t}}\right)^{k} e^{t x}=\sum_{n=0}^{\infty} E_{n}^{*(k)}(x ; \lambda) \frac{t^{n}}{n!} \tag{4}
\end{equation*}
$$

and $E_{n}^{*(k)}(\lambda)=E_{n}^{*(k)}(0 ; \lambda)$ are the Apostol-Euler type numbers of the second kind of order $k$ and their generating functions are given by

$$
\begin{equation*}
F_{N}(t ; k, \lambda)=\left(\frac{2}{\lambda e^{t}+\lambda^{-1} e^{-t}}\right)^{k}=\sum_{n=0}^{\infty} E_{n}^{*(k)}(\lambda) \frac{t^{n}}{n!} \tag{5}
\end{equation*}
$$

(cf. [19], [21]).
Moreover, for $\lambda=k=1$, the $E_{n}^{*(k)}(\lambda)$ numbers are reduced to the Euler numbers of the second kind $E_{n}^{*}$ :

$$
E_{n}^{*}=E_{n}^{*(1)}(1)
$$

which are given by the following generating function:

$$
\begin{equation*}
\frac{2}{e^{t}+e^{-t}}=\sum_{n=0}^{\infty} E_{n}^{*} \frac{t^{n}}{n!} \tag{6}
\end{equation*}
$$

where $|t|<\frac{\pi}{2}$ (cf. [9], [21], [24]; and see also the references cited therein).
In [13], Kim et al. defined the $\lambda$-Bernoulli polynomials $B_{n}(\lambda ; x)$ are given by the following generating function:

$$
\begin{equation*}
\frac{\log \lambda+t}{\lambda e^{t}-1} e^{t x}=\sum_{n=0}^{\infty} B_{n}(\lambda ; x) \frac{t^{n}}{n!} \tag{7}
\end{equation*}
$$

For $x=0$, these polynomials are reduced to the $\lambda$-Bernoulli numbers $B_{n}(\lambda)$ :

$$
B_{n}(\lambda)=B_{n}(\lambda ; 0)
$$

which are given by the following generating function:

$$
\begin{equation*}
\frac{\log \lambda+t}{\lambda e^{t}-1}=\sum_{n=0}^{\infty} B_{n}(\lambda) \frac{t^{n}}{n!} \tag{8}
\end{equation*}
$$

(cf. [13], [11]; and see also the references cited therein).
In [13], Kim et al. considered the $\lambda$-Bernoulli numbers as follows:

$$
\lambda(B(\lambda)+1)^{n}-B_{n}(\lambda)=\left\{\begin{array}{cl}
\log \lambda, & n=0  \tag{9}\\
1, & n=1 \\
0, & n>1
\end{array}\right.
$$

with the umbral calculus convention of replacing $B_{n}(\lambda)$ by $B^{n}(\lambda)$.
By using (9), some special values of $B_{n}(\lambda)$ are given as follows:

$$
B_{0}(\lambda)=\frac{\log \lambda}{\lambda-1}, B_{1}(\lambda)=\frac{\lambda-1-\lambda \log \lambda}{(\lambda-1)^{2}}, \ldots
$$

(cf. [13], [11], [20]; and see also the references cited therein).
From equation (7) and equation (8), we have

$$
B_{n}(\lambda ; x)=\sum_{k=0}^{n}\binom{n}{k} B_{k}(\lambda) x^{n-k}
$$

(cf. [13]).

Also, in [13, p. 9], Kim et al. derived the following formula including the sums powers of consecutive integers in terms of $\lambda$-Bernoulli numbers and polynomials:

$$
\begin{equation*}
B_{l}(\lambda ; k)-\lambda^{-k} B_{l}(\lambda)=\lambda^{-k} l \sum_{n=0}^{k-1} \lambda^{n} n^{l-1} \tag{10}
\end{equation*}
$$

The Stirling numbers of the second kind $S_{2}(n, k)$ are defined by means of the following generating functions:

$$
\begin{equation*}
x^{n}=\sum_{k=0}^{n} S_{2}(n, k)(x)_{k} \tag{11}
\end{equation*}
$$

and

$$
\frac{1}{k!}\left(e^{x}-1\right)^{k}=\sum_{n=k}^{\infty} S_{2}(n, k) \frac{x^{n}}{n!}
$$

where $k \in \mathbb{N}_{0}(c f .[3],[9],[4],[5],[6],[24] ;$ and the references cited therein). The recurrence relation for the Stirling numbers of the second kind are given by

$$
\begin{equation*}
S_{2}(n, k)=S_{2}(n-1, k-1)+k S_{2}(n-1, k) \tag{12}
\end{equation*}
$$

and $S_{2}(0,0)=1, S_{2}(n, k)=0$ if $k>n ; S_{2}(n, 0)=0$ if $n>0$. By using the above generating function, an explicit formula for the Stirling numbers of the second kind is given by

$$
\begin{equation*}
S_{2}(n, v)=\frac{1}{v!} \sum_{j=0}^{v}\binom{v}{j}(-1)^{j}(v-j)^{n} \tag{13}
\end{equation*}
$$

(cf. [3], [4], [5], [6], [24]; and the references cited therein).
It may be worthy to note that the relation between the Stirling numbers of the second kind and the combinatorial numbers $y_{1}(n, k ; \lambda)$ given by (cf. [19]):

$$
\begin{equation*}
S_{2}(n, k)=(-1)^{k} y_{1}(n, k ;-1) \tag{14}
\end{equation*}
$$

For $n \geq 1$, the Bell numbers $B l_{n}$, enumerates all partitions of a set with $n$ elements, are given by

$$
\begin{equation*}
B l_{n}=\sum_{k=1}^{n} S_{2}(n, k) \tag{15}
\end{equation*}
$$

and their generating functions are given by

$$
e^{e^{x}-1}=\sum_{n=0}^{\infty} B l_{n} \frac{x^{n}}{n!}
$$

(cf. [3]; [6]; and also see the references cited therein).
In [10. Vol. 7, Eq-(2.29)], Gould gave the following identity:

$$
\begin{equation*}
\sum_{n=0}^{\infty} \frac{n^{r} x^{n}}{n!}=e^{x} \sum_{k=1}^{r} S_{2}(r, k) x^{k} \tag{16}
\end{equation*}
$$

The Möbius function $\mu$, which is an arithmetical function, is given by (cf. [1]):

$$
\mu(n)= \begin{cases}1 & \text { if } n=1 \\ (-1)^{m} & \text { if } n \text { is a square-free integer with } m \text { distinct prime factors, } \\ 0 & \text { if } n \text { has a squared prime factor. }\end{cases}
$$

In order to give our identities, we need the Möbius inversion formula given by the following theorem:

Theorem 1.1. Let $f$ and $g$ be arithmetical functions which satisfy

$$
f(n)=\sum_{d \mid n} g(d)
$$

## if and only if

$$
g(n)=\sum_{d \mid n} \mu\left(\frac{n}{d}\right) f(d),
$$

(cf. [1] p. 32]).
The numbers $L_{k}(n)$, counts the $k$-ary $n$ length Lyndon words, are given as follows:

$$
\begin{equation*}
L_{k}(n)=\frac{1}{n} \sum_{d \mid n} \mu\left(\frac{n}{d}\right) k^{d} \tag{17}
\end{equation*}
$$

(cf [2], [8], [18], [16]).
In particular, in algebraic combinatorics, there exist various combinatorial interpretations related to the numbers $L_{k}(n)$. One of them is counting the numbers of the $k$-ary $n$-length Lyndon words from lexicographically ordered free semigroup composed of the $k$-letters. The $k$-ary $n$-length Lyndon words are representatives of the primitive necklaces and necklaces are formed by the ways of placing $n$ colored beads circularly with set of $k$ various colours. It is also known that the numbers $L_{k}(n)$ correspond dimension formulas in some works based on the theory of free lie algebra. The formula in (17) is also known as a Witt's formula. The numbers $L_{k}(n)$ are also used for the enumeration of monic irreducible polynomials of degree $n$ over Galois field $G F(k)(c f .[2],[8],[14], ~[15], ~[16], ~[17], ~[18]) . ~$

The present paper consist of next four sections. We summarize our results as follows:
In Section 2, we construct not only recurrence relations for the Apostol-Euler type numbers of the second kind, but also a computation algorithm for the Apostol-Euler type numbers of the second kind using these recurrence relations.

In Section 3, by using some powerful techniques including generating functions, functional equations and inversion formulas for any two arithmetical functions, we derive some identities related to a family of new combinatorial numbers, the Apostol-Euler type numbers of the second kind, the Stirling numbers of the second kind, the Euler numbers of the second kind, the Apostol-Bernoulli type numbers, the Bell numbers and the numbers of special words.

In the last two sections, we derive some novel partial derivative formulas for a family of new combinatorial numbers by using derivative operator and the Caputo fractional derivative operator. These derivative formulas provides ways to derive many identities for the special numbers and polynomials.

## 2. Recurrence relations for the Apostol-Euler type numbers of the second kind

In this section, we give recurrence relations for the Apostol-Euler type numbers of the second kind $E_{n}^{*(k)}(\lambda)$. By using these relations, we compute few values of these numbers.

By using Equation (5), we obtain a recurrence relation for the Apostol-Euler type numbers of the second kind $E_{n}^{*(k)}(\lambda)$ by the following theorem:

Theorem 2.1. Let $n \in \mathbb{N}_{0}$. Starting with

$$
E_{n}^{*(0)}(\lambda)= \begin{cases}1, & n=0 \\ 0, & n>0\end{cases}
$$

and

$$
E_{0}^{*(1)}(\lambda)=\frac{2 \lambda}{\lambda^{2}+1}
$$

If $n>0$, then we have

$$
\begin{equation*}
\sum_{j=0}^{n}\binom{n}{j}\left(\lambda+(-1)^{n-j} \lambda^{-1}\right) E_{j}^{*(1)}(\lambda)=0 \tag{18}
\end{equation*}
$$

By using the above relations, we compute the values of some $E_{n}^{*(1)}(\lambda)$ numbers as follows:

$$
E_{1}^{*(1)}(\lambda)=\frac{2 \lambda\left(1-\lambda^{2}\right)}{\left(\lambda^{2}+1\right)^{2}}, \quad E_{2}^{*(1)}(\lambda)=\frac{2 \lambda\left(\lambda^{2}-2 \lambda-1\right)\left(\lambda^{2}+2 \lambda-1\right)}{\left(\lambda^{2}+1\right)^{3}}, \ldots
$$

It is time to compute the Apostol-Euler type numbers of the second kind of higher-order, $E_{n}^{*(k)}(\lambda)$ by the following theorem:

## Theorem 2.2.

$$
\begin{equation*}
E_{n}^{*\left(k_{1}+k_{2}\right)}(\lambda)=\sum_{j=0}^{n}\binom{n}{j} E_{j}^{*\left(k_{1}\right)}(\lambda) E_{n-j}^{*\left(k_{2}\right)}(\lambda) . \tag{19}
\end{equation*}
$$

Proof. We set the following functional equation:

$$
F_{N}\left(t ; k_{1}+k_{2}, \lambda\right)=F_{N}\left(t ; k_{1}, \lambda\right) F_{N}\left(t ; k_{2}, \lambda\right)
$$

Combining the above equation with (5), we get

$$
\sum_{n=0}^{\infty} E_{n}^{*\left(k_{1}+k_{2}\right)}(\lambda) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty} \sum_{j=0}^{n}\binom{n}{j} E_{j}^{*\left(k_{1}\right)}(\lambda) E_{n-j}^{*\left(k_{2}\right)}(\lambda) \frac{t^{n}}{n!}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the desired result.

By using the above relations, we compute the values of some $E_{n}^{*(k)}(\lambda)$ numbers as follows:

$$
E_{0}^{*(2)}(\lambda)=\frac{4 \lambda^{2}}{\left(\lambda^{2}+1\right)^{2}}, \quad E_{1}^{*(2)}(\lambda)=\frac{8 \lambda^{2}\left(1-\lambda^{2}\right)}{\left(\lambda^{2}+1\right)^{2}}, \ldots
$$

### 2.1. Computation algorithm for the Apostol-Euler type numbers of the second kind $E_{n}^{*(k)}(\lambda)$

Here, we give a computation algorithm for the Apostol-Euler type numbers of the second kind $E_{n}^{*(k)}(\lambda)$ by using Theorem 2.1 and Theorem 2.2.

```
Algorithm 1 Let \(n, k \in \mathbb{N}_{0}\). This algorithm will return the Apostol-Euler type numbers of the second kind,
\(E_{n}^{*(k)}(\lambda)\) by using Theorem 2.1 and Theorem 2.2 , recursively.
    procedure SECOND_Kind_Apostol_Euler_Type_numbers ( \(n\) : nonnegative integer, \(k\) : nonnegative integer, \(\lambda\) )
        Begin
        Lobal variables:
        \(j\) : integer
        if \(k=0\) then
            if \(n=0\) then
                    return 1
            else
                if \(n>0\) then
                    return 0
                end if
            end if
        else
            if \(k=1\) then
                if \(n=0\) then
                    return \(2 \lambda /\left(\lambda^{2}+1\right)\)
                    else
                    if \(n>0\) then
                        return \(-\left(1 /\left(\lambda^{2}+1\right)\right) * \operatorname{sum}\left(\operatorname{Binomial}\right.\) _Coef \((n, j)^{*}\left(\lambda^{2}+\operatorname{Power}(-1, n-j)\right)\)
                                    \(\left.\hookrightarrow ~ * S E C O N D \_K I N D \_A P O S T O L \_E U L E R \_T Y P E \_N U M B E R S ~(~ n-j, k, \lambda), j, 1, n\right)\)
                    end if
                end if
            else
                if \(k>1\) then
                    return sum \(\left(\operatorname{Binomial}\right.\) _Coef \((n, j) * \operatorname{SECOND\_ KIND\_ APOSTOL\_ EULER\_ TYPE\_ NUMBERS}(j, \lambda, k-1)\)
                                    \(\hookrightarrow * \operatorname{SECOND}\) KIND_APOSTOL_EULER_TYPE_NUMBERS \((n-j, \lambda, 1), j, 0, n)\)
                    end if
            end if
        end if
    end procedure
```


## 3. Identities and relations

In this section, we investigate two kind of identities and relations. One of them is related to the combinatorial numbers and the Apostol-Euler type numbers of the second kind. For these identities, our methods are depended on generating functions and their functional equations for these numbers. In order to prove the other identities for the Möbius function and the Lyndon words, we use an arithmetical function and Mobius inversion formula method.
3.1. Identities and relations for the combinatorial numbers and the Apostol-Euler type numbers of the second kind

Here, we give some functional equations for the generating functions of the combinatorial numbers and the Apostol-Euler type numbers of the second kind. By using these equations, we derive many identities and relations.

By using (1), we give the following functional equation:

$$
\lambda e^{t} \sum_{j=1}^{k-1} j!F_{y 1}(t, j ; \lambda)=k!F_{y 1}(t, k ; \lambda)-F_{y 1}(t, 1 ; \lambda)
$$

By using the above equation, we obtain

$$
\lambda \sum_{n=0}^{\infty} \frac{t^{n}}{n!} \sum_{j=1}^{k-1} j!\sum_{n=0}^{\infty} y_{1}(n, j ; \lambda) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty}\left(k!y_{1}(n, k ; \lambda)-y_{1}(n, 1 ; \lambda)\right) \frac{t^{n}}{n!}
$$

By using the Cauchy product, we get

$$
\sum_{n=0}^{\infty}\left(\lambda \sum_{j=1}^{k-1} \sum_{m=0}^{n}\binom{n}{m} j!y_{1}(m, j ; \lambda) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty}\left(k!y_{1}(n, k ; \lambda)-y_{1}(n, 1 ; \lambda)\right) \frac{t^{n}}{n!}\right.
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:

## Theorem 3.1.

$$
k!y_{1}(n, k ; \lambda)=y_{1}(n, 1 ; \lambda)+\lambda \sum_{j=1}^{k-1} \sum_{m=0}^{n}\binom{n}{m} j!y_{1}(m, j ; \lambda)
$$

From (1) and (5), we have the following functional equation:

$$
F_{y 1}\left(2 t, k ; \lambda^{2}\right) F_{N}(t ; k, \lambda)=\frac{(2 \lambda)^{k}}{k!} e^{t k}
$$

From the above equation, we get

$$
\sum_{n=0}^{\infty} 2^{n} y_{1}\left(n, k ; \lambda^{2}\right) \frac{t^{n}}{n!} \sum_{n=0}^{\infty} E_{n}^{*(k)}(\lambda) \frac{t^{n}}{n!}=\frac{(2 \lambda)^{k}}{k!} \sum_{n=0}^{\infty} k^{n} \frac{t^{n}}{n!}
$$

Therefore, using the Cauchy product in the above equation, we obtain

$$
\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n}\binom{n}{m} 2^{m} y_{1}\left(m, k ; \lambda^{2}\right) E_{n-m}^{*(k)}(\lambda)\right) \frac{t^{n}}{n!}=\frac{(2 \lambda)^{k}}{k!} \sum_{n=0}^{\infty} k^{n} \frac{n^{n}}{n!}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:

## Theorem 3.2.

$$
\begin{equation*}
\sum_{m=0}^{n}\binom{n}{m} 2^{m} y_{1}\left(m, k ; \lambda^{2}\right) E_{n-m}^{*(k)}(\lambda)=\frac{(2 \lambda)^{k}}{k!} k^{n} \tag{20}
\end{equation*}
$$

Firstly, from equation (20), we have

$$
\frac{k!}{2^{k}} \sum_{m=0}^{n}\binom{n}{m} 2^{m} y_{1}\left(m, k ; \lambda^{2}\right) E_{n-m}^{*(k)}(\lambda)=\lambda^{k} k^{n}
$$

Summing the above equation over all $0 \leq k \leq v$, we obtain the following combinatorial sums:

$$
\sum_{k=0}^{v} \sum_{m=0}^{n}\binom{n}{m} k!2^{m-k} y_{1}\left(m, k ; \lambda^{2}\right) E_{n-m}^{*(k)}(\lambda)=\sum_{k=0}^{v} \lambda^{k} k^{n}
$$

Therefore, by combining the above equation with $\sqrt{10}$, we get the following theorem:

## Theorem 3.3.

$$
\sum_{k=0}^{v} \sum_{m=0}^{n}\binom{n}{m} k!2^{m-k} y_{1}\left(m, k ; \lambda^{2}\right) E_{n-m}^{*(k)}(\lambda)=\frac{\lambda^{v+1} B_{n+1}(\lambda ; v+1)-B_{n+1}(\lambda)}{n+1}
$$

Secondly, summing both side of the equation (20) from 0 to infinity over $k$ and using (16), we arrive at the following result:
Corollary 3.4. Let $n \in \mathbb{N}$. Then we have

$$
\begin{equation*}
\sum_{k=0}^{\infty} \sum_{m=0}^{n}\binom{n}{m} 2^{m} y_{1}\left(m, k ; \lambda^{2}\right) E_{n-m}^{*(k)}(\lambda)=e^{2 \lambda} \sum_{j=1}^{n}(2 \lambda)^{j} S_{2}(n, j) \tag{21}
\end{equation*}
$$

Substituting $\lambda=\frac{1}{2}$ into 21 , we get sum of infinite series by the following corollary:
Corollary 3.5. Let $n \in \mathbb{N}$. Then we have

$$
\sum_{k=0}^{\infty} \sum_{m=0}^{n}\binom{n}{m} 2^{m} y_{1}\left(m, k ; \frac{1}{4}\right) E_{n-m}^{*(k)}\left(\frac{1}{2}\right)=e \sum_{j=1}^{n} S_{2}(n, j)
$$

Substituting 15 into Corollary 3.5 , we also get the following combinatorial sum:

$$
\sum_{k=0}^{\infty} \sum_{m=0}^{n}\binom{n}{m} 2^{m} y_{1}\left(m, k ; \frac{1}{4}\right) E_{n-m}^{*(k)}\left(\frac{1}{2}\right)=e B l_{n}
$$

Moreover, substituting $\lambda=1$ into the equation (20) and combining with (3), we arrive at the following corollary:

## Corollary 3.6.

$$
\sum_{m=0}^{n}\binom{n}{m} 2^{m} B(m, k) E_{n-m}^{*(k)}(1)=2^{k} k^{n}
$$

By substituting $k=1$ into the above equation and using (3) and (6), we also get a (presumably new) formula for the Euler numbers of the second kind $E_{n}^{*}$ by the following corollary:

## Corollary 3.7.

$$
\sum_{m=1}^{n}\binom{n}{m} 2^{m-1} E_{n-m}^{*}=1-E_{n}^{*}
$$

### 3.2. Identities related to the Möbius function and the Lyndon words

Here, we derive two identities associated with the Möbius function and the Lyndon words by using an arithmetical function and Mobius inversion formula.

By combining (2) with (17), we arrive at the following theorem:

## Theorem 3.8.

$$
\begin{equation*}
\sum_{d \mid n} \mu\left(\frac{n}{d}\right) y_{1}(d, k ; \lambda)=\frac{n}{k!} \sum_{j=0}^{k}\binom{k}{j} \lambda^{j} L_{j}(n) . \tag{22}
\end{equation*}
$$

By applying the Möbius inversion formula to equation (22), we get the following novel identity related to the numbers $L_{k}(n)$ and $y_{1}(n, k ; \lambda)$ :
Theorem 3.9.

$$
y_{1}(n, k ; \lambda)=\sum_{d \mid n} \sum_{j=0}^{k}\binom{k}{j} \frac{d}{k!} \lambda^{j} L_{j}(d) .
$$

## 4. Partial derivative equations for the functions $F_{y 1}(t, k ; \lambda)$ and their applications

In this section, we give partial derivative equations including the functions $F_{y 1}(t, k ; \lambda)$. By using these equations, we derive recurrence relations for the combinatorial numbers $y_{1}(n, k ; \lambda)$.

Differentiating both side of (1) with respect to $t$, we get the following partial differential equation:

$$
\begin{equation*}
\frac{\partial}{\partial t}\left\{F_{y 1}(t, k ; \lambda)\right\}=\lambda e^{t} F_{y 1}(t, k-1 ; \lambda) . \tag{23}
\end{equation*}
$$

and

$$
\frac{\partial^{2}}{\partial t^{2}}\left\{F_{y 1}(t, k ; \lambda)\right\}=\lambda^{2} e^{2 t} F_{y 1}(t, k-2 ; \lambda)+\lambda e^{t} F_{y 1}(t, k-1 ; \lambda) .
$$

By iterating the above derivation for the variable $t$ and using induction method, we arrive at the following higher order differential equation for the functions $F_{y 1}(t, k ; \lambda)$ by the following theorem:

Theorem 4.1. Let $m \in \mathbb{N}$. Then

$$
\begin{equation*}
\frac{\partial^{m}}{\partial t^{m}}\left\{F_{y 1}(t, k ; \lambda)\right\}=\sum_{j=1}^{m} \lambda^{j} e^{j t} S_{2}(m, j) F_{y 1}(t, k-j ; \lambda) \tag{24}
\end{equation*}
$$

Remark 4.2. Replacing $k$ by $2 k$ in (24), we arrive at another differantial equation which was given by Simsek in [23].
By using (1), we have

$$
\frac{\partial^{m}}{\partial t^{m}}\left\{F_{y 1}(t, k ; \lambda)\right\}=\sum_{n=0}^{\infty} y_{1}(n+m, k ; \lambda) \frac{t^{n}}{n!}
$$

Substituting the above equation and (1) into $\sqrt{24}$, we get

$$
\sum_{n=0}^{\infty} y_{1}(n+m, k ; \lambda) \frac{t^{n}}{n!}=\sum_{j=1}^{m} \lambda^{j} S_{2}(m, j) \sum_{n=0}^{\infty} j^{n} \frac{t^{n}}{n!} \sum_{n=0}^{\infty} y_{1}(n, k-j ; \lambda) \frac{t^{n}}{n!}
$$

and using the Cauchy product, we obtain

$$
\sum_{n=0}^{\infty} y_{1}(n+m, k ; \lambda) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty}\left(\sum_{j=1}^{m} \sum_{l=0}^{n}\binom{n}{l} \lambda^{j} j^{n-l} S_{2}(m, j) y_{1}(l, k-j ; \lambda)\right) \frac{t^{n}}{n!}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:
Theorem 4.3. Let $m \in \mathbb{N}$ and $n \in \mathbb{N}_{0}$. Then

$$
\begin{equation*}
y_{1}(n+m, k ; \lambda)=\sum_{j=1}^{m} \sum_{l=0}^{n}\binom{n}{l} \lambda^{j} j^{n-l} S_{2}(m, j) y_{1}(l, k-j ; \lambda) . \tag{25}
\end{equation*}
$$

It is time to give some applications of 25. By substituting some special value of $\lambda$, we obtain some (presumably new) identities.

If we substitute $\lambda=-1$ into (25) and using (14), we arrive at the following theorem:
Theorem 4.4. Let $m \in \mathbb{N}$ and $n \in \mathbb{N}_{0}$. Then

$$
\begin{equation*}
S_{2}(n+m, k)=\sum_{j=1}^{m} \sum_{l=0}^{n}\binom{n}{l} j^{n-l} S_{2}(m, j) S_{2}(l, k-j) \tag{26}
\end{equation*}
$$

Remark 4.5. In [23], Simsek also gave a similar formula to (26) by using functional equation method. We use partial differential equation in our proof which is different from that of [23].

Substituting $\lambda=1$ into (25) and using (3), we also arrive at the following corollary:
Corollary 4.6. Let $m \in \mathbb{N}$ and $n \in \mathbb{N}_{0}$. Then

$$
\frac{1}{k!} B(n+m, k)=\sum_{j=1}^{m} \sum_{l=0}^{n}\binom{n}{l} \frac{j^{n-l} S_{2}(m, j) B(l, k-j)}{(k-j)!}
$$

Therefore, by using the above equation with the definition of $B(n, k)$ in (3), we arrive at a combinatorial sum given by the following corollary:

## Corollary 4.7.

$$
\sum_{j=0}^{k}\binom{k}{j} j^{n+m}=\sum_{j=1}^{m} \sum_{l=0}^{n} \sum_{v=0}^{k-j}\binom{n}{l}\binom{k}{j}\binom{k-j}{v} v^{l} j^{n-l} j!S_{2}(m, j) .
$$

Differentiating both side of (1) $m$ times with respect to $\lambda$, we get the following partial differential equation:

$$
\begin{equation*}
\frac{\partial^{m}}{\partial \lambda^{m}}\left\{F_{y 1}(t, k ; \lambda)\right\}=e^{m t} F_{y 1}(t, k-m ; \lambda) \tag{27}
\end{equation*}
$$

Remark 4.8. The special case of (27) when $m=1$ is reduced to the Eq. (15) given by Simsek in [21].
By using (1), we have

$$
\frac{\partial^{m}}{\partial \lambda^{m}}\left\{F_{y 1}(t, k ; \lambda)\right\}=\sum_{n=0}^{\infty} \frac{\partial^{m}}{\partial \lambda^{m}}\left\{y_{1}(n, k ; \lambda)\right\} \frac{t^{n}}{n!}
$$

Substituting the above equation and (1) into (27), we get

$$
\sum_{n=0}^{\infty} \frac{\partial^{m}}{\partial \lambda^{m}}\left\{y_{1}(n, k ; \lambda)\right\} \frac{t^{n}}{n!}=\sum_{n=0}^{\infty} m^{n} \frac{t^{n}}{n!} \sum_{n=0}^{\infty} y_{1}(n, k-m ; \lambda) \frac{t^{n}}{n!}
$$

and using the Cauchy product, we obtain

$$
\sum_{n=0}^{\infty} \frac{\partial^{m}}{\partial \lambda^{m}}\left\{y_{1}(n, k ; \lambda)\right\} \frac{t^{n}}{n!}=\sum_{n=0}^{\infty}\left(\sum_{j=0}^{n}\binom{n}{j} m^{j} y_{1}(n-j, k-m ; \lambda)\right) \frac{t^{n}}{n!}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:

## Theorem 4.9.

$$
\begin{equation*}
\frac{\partial^{m}}{\partial \lambda^{m}}\left\{y_{1}(n, k ; \lambda)\right\}=\sum_{j=0}^{n}\binom{n}{j} m^{j} y_{1}(n-j, k-m ; \lambda) . \tag{28}
\end{equation*}
$$

Differentiating both side of (23) with respect to $\lambda$, we get the following partial differential equation:

$$
\begin{equation*}
\frac{\partial^{2}}{\partial t \partial \lambda}\left\{F_{y 1}(t, k ; \lambda)\right\}=\lambda e^{2 t} F_{y 1}(t, k-2 ; \lambda)+e^{t} F_{y 1}(t, k-1 ; \lambda) \tag{29}
\end{equation*}
$$

By using (1), we have

$$
\frac{\partial^{2}}{\partial t \partial \lambda}\left\{F_{y 1}(t, k ; \lambda)\right\}=\sum_{n=0}^{\infty} \frac{\partial}{\partial \lambda}\left\{y_{1}(n+1, k ; \lambda)\right\} \frac{t^{n}}{n!}
$$

Substituting the above equation and (1) into (29), we get

$$
\sum_{n=0}^{\infty} \frac{\partial}{\partial \lambda}\left\{y_{1}(n+1, k ; \lambda)\right\} \frac{t^{n}}{n!}=\lambda \sum_{n=0}^{\infty} 2^{n} \frac{t^{n}}{n!} \sum_{n=0}^{\infty} y_{1}(n, k-2 ; \lambda) \frac{t^{n}}{n!}+\sum_{n=0}^{\infty} \frac{t^{n}}{n!} \sum_{n=0}^{\infty} y_{1}(n, k-1 ; \lambda) \frac{t^{n}}{n!}
$$

and using the Cauchy product, we obtain

$$
\sum_{n=0}^{\infty} \frac{\partial}{\partial \lambda}\left\{y_{1}(n+1, k ; \lambda)\right\} \frac{t^{n}}{n!}=\sum_{n=0}^{\infty} \sum_{j=0}^{n}\binom{n}{j}\left(\lambda 2^{n-j} y_{1}(j, k-2 ; \lambda)+y_{1}(j, k-1 ; \lambda)\right) \frac{t^{n}}{n!}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:

## Theorem 4.10.

$$
\frac{\partial}{\partial \lambda}\left\{y_{1}(n+1, k ; \lambda)\right\}=\sum_{j=0}^{n}\binom{n}{j}\left(\lambda 2^{n-j} y_{1}(j, k-2 ; \lambda)+y_{1}(j, k-1 ; \lambda)\right)
$$

## 5. Applications of the Caputo fractional derivative to $y_{1}(n, k ; \lambda)$

In this section, firstly we briefly give definition of the caputo fractional derivative, gamma and beta functions. Secondly, by applying the caputo fractional derivative operator to $y_{1}(n, k ; \lambda)$, which is an analytic function of $\lambda$ variable, with beta integral, we derive a novel derivative formula for the $y_{1}(n, k ; \lambda)$.

Let $\alpha \in(0, \infty)$ and $n$ be the nearest positive integer greater than $\alpha$. The Caputo fractional derivative of order $\alpha$ of a function $f$ is defined as follows:

$$
D_{*}^{\alpha}\{f(t)\}=\frac{1}{\Gamma(n-\alpha)} \int_{0}^{t}(t-u)^{n-\alpha-1} \frac{d^{n}}{d u^{n}}\{f(u)\} d u
$$

(cf. [7], [12]).

## Lemma 5.1.

$$
\begin{equation*}
\int_{a}^{b}(x-a)^{\alpha-1}(b-x)^{\beta-1} d x=(b-a)^{\alpha+\beta-1} B(\alpha, \beta) \tag{30}
\end{equation*}
$$

where $a>b, \operatorname{Re}(\alpha)>0$ and $\operatorname{Re}(\beta)>0$ and

$$
B(\alpha, \beta)=\frac{\Gamma(\alpha) \Gamma(\beta)}{\Gamma(\alpha+\beta)}
$$

## (cf. [25, p. 10, Eq-(69)]).

Applying the operator $D_{*}^{\alpha}$ to $y_{1}(n, k ; \lambda)$, we get

$$
D_{*}^{\alpha}\left\{y_{1}(n, k ; \lambda)\right\}=\frac{1}{\Gamma(m-\alpha)} \int_{0}^{\lambda}(\lambda-u)^{m-\alpha-1} \frac{d^{m}}{d u^{m}}\left\{y_{1}(n, k ; u)\right\} d u
$$

where $m$ is the nearest positive integer greater than $\alpha$; that is, $m$ depends on $\alpha$.
By combining the above equation with (28) and (2), we get

$$
D_{*}^{\alpha}\left\{y_{1}(n, k ; \lambda)\right\}=\frac{1}{\Gamma(m-\alpha)} \sum_{j=0}^{n}\binom{n}{j} \frac{m^{j}}{(k-m)!} \sum_{l=0}^{k-m}\binom{k-m}{l} l^{n-j} \int_{0}^{\lambda}(\lambda-u)^{m-\alpha-1} u^{l} d u
$$

Combining the above equation with (30), we arrive at the following theorem:
Theorem 5.2. Let $k \geq m$. Then we have

$$
\begin{equation*}
D_{*}^{\alpha}\left\{y_{1}(n, k ; \lambda)\right\}=\sum_{j=0}^{n} \sum_{l=0}^{k-m}\binom{n}{j} \frac{m^{j} l^{n-j} \lambda^{m-\alpha+l}}{\Gamma(m-\alpha+l+1)(k-m-l)!} \tag{31}
\end{equation*}
$$

Substituting $\alpha=m \in \mathbb{N}$ into (31), we arrive at the following result:
Corollary 5.3. Let $k \geq m$. Then we have

$$
D_{*}^{m}\left\{y_{1}(n, k ; \lambda)\right\}=\frac{\partial^{m}}{\partial \lambda^{m}}\left\{y_{1}(n, k ; \lambda)\right\}
$$

## References

[1] T. M. Apostol, Introduction to Analytic Number Theory, Narosa Publishing, Springer-Verlag, New Delhi, Chennai, Mumbai, 1998.
[2] J. Berstel, D. Perrin, The origins of combinatorics on words, European Journal of Combinatorics 28 (2007) 996-1022.
[3] M. Bona, Introduction to Enumerative Combinatorics, McGraw-Hill Companies Inc., New York, 2007.
[4] N. P. Cakic, G. V. Milovanovic, On generalized Stirling numbers and polynomials, Mathematica Balkanica 18 (2004) 241-248.
[5] C. A. Charalambides, Enumerative Combinatorics, Chapman\&Hall/Crc Press Company, London, New York, 2002.
[6] L. Comtet, Advanced combinatorics, D. Reidel, Dordrecht, 1974.
[7] M. Caputo, Linear models of dissipation whose $Q$ is almost frequency independent, part ii. Geophysical Journal International 13(5) (1967) 529-539.
[8] T. W. Cusick, P. Stanica, Cryptographic Boolean Functions and Applications, London Academic Press, Elsevier, 2009.
[9] G. B. Djordjevic, G. V. Milovanovic, Special classes of polynomials, University of Nis, Faculty of Technology Leskovac, 2014.
[10] H. W. Gould, Combinatorial Identities Vol.1-Vol.8, http://www.math.wvu.edu/~ gould/.
[11] L. C. Jang, H. K. Pak, Non-Archimedean integration associated with $q$-Bernoulli numbers, Proceedings of the Jangjeon Mathematical Society 5(2) (2002) 125-129.
[12] A. A. Kilbas, H. M. Srivastava, J. J. Trujillo, Theory and Applications of Fractional Differential Equations, Elsevier, Amsterdam, 2006.
[13] T. Kim, S. H. Rim, Y. Simsek, D. Kim, On the analogs of Bernoulli and Euler numbers, related identities and zeta and L-functions, Journal of the Korean Mathematical Society 45(2) (2008) 435-453.
[14] I. Kucukoglu, Y. Simsek, On $k$-ary Lyndon words and their generating functions, The 14th International Conference of Numerical Analysis and Applied Mathematics (ICNAAM2016), AIP Conference Proceedings 1863(300004) (2017) 1-4.
[15] I. Kucukoglu, Y. Simsek, Identities on the $k$-ary Lyndon words related to a family of zeta functions, http://arxiv.org/abs/1606.03837v1.
[16] M. Lothaire, Combinatorics on Words, Cambridge University Press, Cambridge, 1997.
[17] R. Lyndon, On Burnside problem I, Transactions of the American Mathematical Society 77 (1954) 202-215.
[18] N. Metropolis, G. C. Rota, Witt Vectors and the Algebra of Necklaces, Advances in Mathematics 50 (1983) 95-125.
[19] Y. Simsek, Computation methods for combinatorial sums and Euler type numbers related to new families of numbers, Mathematical Methods in the Applied Sciences 40(7) (2017) 2347-2361.
[20] Y. Simsek, Analysis of the p-adic q-Volkenborn integrals: An approach to generalized Apostol-type special numbers and polynomials and their applications, Cogent Mathematics 3:1269393 (2016) 1-17.
[21] Y. Simsek, New families of special numbers for computing negative order Euler numbers and related numbers and polynomials, Applicable Analysis and Discrete Mathematics 12 (2018) 001-035, https://doi.org/10.2298/AADM1801001S.
[22] Y. Simsek, Identities and relations related to combinatorial numbers and polynomials, Proceedings of the Jangjeon Mathematical Society 20(1) (2017) 127-135.
[23] Y. Simsek, Combinatorial identities and sums for special numbers and polynomials, Filomat 32 (20) (2018) 6869-6877.
[24] H. M. Srivastava, J. Choi, Zeta and $q$-Zeta Functions and Associated Series and Integrals, Elsevier Science Publishers, Amsterdam, London and New York, 2012.
[25] H. M. Srivastava, J. Choi, Series Associated with the Zeta and Related Functions, Kluwer Acedemic Publishers: Dordrecht, Boston and London, 2001.


[^0]:    2010 Mathematics Subject Classification. 05A10, 05A15, 11A25, 11B37, 11B68, 11B83, 26C99, 34A99, 33B15, 65Q20.
    Keywords. Generating functions, Functional equations, Partial differential equations, Stirling numbers of the second kind, Euler numbers of the second kind, Apostol-Euler type polynomials of the second kind, $\lambda$-Bernoulli numbers, Bell numbers, Combinatorial sums, Binomial coefficients, Arithmetical functions.

    Received: 18 April 2018; Accepted: 04 July 2018
    Communicated by Miodrag Spalević
    The present paper was supported by Scientific Research Project Administration of Akdeniz University (with Project Number: FBA-2018-3292).

    Email addresses: irem.kucukoglu@alanya.edu.tr (Irem Kucukoglu), ysimsek@akdeniz.edu.tr (Yilmaz Simsek)

